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Ahora	
   te	
   invito	
   a	
   que	
  
resuelvas	
   éstos	
  
ejercicios	
  tipo	
  PSU:	
  
	
  

1) 	
  	
   ( ) =⋅
243 kk 	
  

A) 9k 	
  
B) 10k 	
  
C) 11k 	
  

D) 14k 	
  
E) 24k 	
  

	
  
2) El	
   cociente	
   entre	
  

p2x	
   	
   y	
   	
   p3-­‐x	
   	
   es	
  
equivalente	
  a:	
  

	
  
A) 1+xp 	
  
B) nxp 	
  
C) xpx ⋅ 	
  
D) 1+px 	
  
E) 33 −xp 	
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A) x2	
  
B) 2x	
  
C) x	
  –	
  1	
  
D) 2	
  
E) 2	
  –	
  x2	
  

	
  
4) Si	
   	
   	
   x	
   =	
   3105 −⋅ 	
  ,	
  	
  

entonces	
  	
  x2	
  	
  	
  =	
  
A) 6105 ⋅ 	
  
B) 61025 −⋅ 	
  
C) 31010 −⋅ 	
  
D) 1105 −⋅ 	
  
E) 61025 ⋅ 	
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de	
  	
  

( ) ( )00
0

0
000 35

4
123354 −⋅+−+⋅

	
  
A) 4	
  
B) 1	
  
C) -­‐2	
  
D) 7	
  
E) 0	
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A) 1/27	
  
B) 27	
  
C) -­‐1/27	
  
D) -­‐27	
  
E) Ninguna	
   de	
   las	
  

anteriores	
  
7) El	
  resultado	
  de	
  	
  32	
  

+	
  32	
  +	
  32	
  	
  es:	
  
A) 92	
  
B) 36	
  	
  	
  
C) 33	
  
D) 272	
  
E) Ninguna	
   de	
   las	
  

anteriores	
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  62	
  =	
  
A) 12	
  
B) 36	
  
C) -­‐36	
  
D) -­‐12	
  
E) -­‐1/36	
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   -­‐
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  es:	
  
A) -­‐9m6	
  
B) 9m6	
  
C) 9m3	
  
D) -­‐9m9	
  
E) 9m9	
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